THSEE KRFRAZIK

SH3FE4RA1BRAE

[EEHERAFEHRER)
B3 B fEE-0—X 8 | B | SEE | XBE | 68%F | AxTea
B 10 10 10 10
P Y B 1 4 4 3 3
%2 2 2 1 0
3 1 1 1 1
O—X &t 17 17 15 14
‘ SEAER 0 0 0 0
BOHE sky—sy—8ma—2z| 15 [ BomE | 14 14 14 14
3 1 1 1 1
" J—R&t 15 15 15 15
ﬂﬁ%ghw AEAER| O 0 0 0
i s Ev RS A b= 20 [ B2E 18 18 18 17
3 3 3 3 3
O—X &t 21 21 21 20
SAEAER 0 0 0 0
HEE 10 10 10 10
cmzms £ 1[0 4 4 3 3
S 0 som 34 34 33 31
3 5 5 5 5
BEt 53 53 51 49
HERE 60 53 53 51 49
XHUEBRUBIBAZABOEEL, BRERE -BEEMERARI—RADH
XNABEAFNROEEL, SRV —BRI—ARVERBREIRDAVLI—RDH
([EZREFR ]
FiE BER T8 | BE | SEE | RBRE | 68%F | A2THs
%1 2 2 2 2
N BEYEY 12 %20 3 3 3 2
&L =3 3 3 3 3
SEFEEt 12 =X 8 8 8 7
. 1 1 1 1 1
e HETEEFRE 25 T#om 19 19 19 19
EYie 25 =1 20 20 20 20
X 37 28 28 28 27




SH3FE4RA1BRAE

AN AL pen 7 Sk 2
SHSEE KERAGFIK]
[T2HER)
252 373 T8 | B | SFEE | RBRE | A%E | AxT6s
e = 49 49 49 47
|l T h
EXRRT SR i — & 49 49 48 44
BEIEt 98 98 97 91
HeE= 44 44 44 43
= SHMBTHET
REHSEBTLER 8 2 2 e
e e E e 86 86 86 84
kit E— g [EE | S0 | S0 | S0 | 49
i — B 51 50 48 43
BEIEt 101 100 98 92
HERE 143 143 143 139
SEFEEt 253 — g 142 141 138 128
A&t 285 284 281 267
A —Eiw| 14 14 14 14
MEBIKIFET
B+amEe AR TFEm 22 e man| 4 7 7 2
SRR 22 &5t 18 18 18 18
B Rl Et 275 303 302 299 285
[EpEhig A2 A RFEFR]
EiE 30 T8 | B | SEE | RBRE | 618F | AxTes
£1H 1 1 1 1
= RHhis T R A I
B ERsEY AT R T M&Eom 7 7 7 7
ESrh 7 =5 8 8 8 8
B Rl & 7 8 8 8 8




THSEE KRFRAZIK

SH3FE4RA1BRAE

SHSE4AAE
[T=Ze% )
7T BB T8 |BEAE| EEE | ZBE | AKE | Ar2T6E
F— ﬁfé%ﬁﬂﬁkliﬁlﬁz R 0 0 0 0
GEPIS REHSEBTSER - =T4 0 0 0 0
(%ﬂ'f§§>$ HESERIPER 3 3 3 3
) _ Bt 3 3 3 3
*f;‘ff;i? BEBRIEER - |l zFe| 2 2 2 2
R it =iEst &t 2 2 2 2
B RiEt 5 5 5 5
SH2F10A AR
[ES MR ]
2iE =-he Bl -0—2X T8 |BEAE| TEE | RBE | 68E | AFE
wrs ke | gmms | SFVY - —FERa—X| - HT4 0 0 0 0
25 BY  (pa@Evrdivba—2z] - =EF4 0 0 0 0
(FMELAFF3I) =igat &% 0 0 0 0
W Rl Et 0 0 0 0
(EFR#ER)
T 373 T8 |BEAE| SHEE | ZBE | AKE | A¥E
o GEREEZER _ 11 5 5 4 4
WA =T 2% 5 5 2 2
Wkl Et 5 5 4 4
[T=#HZRFE ]
7T BB T8 |BEAE| SEE | ZBE | AKE | A¥E
W | EXANIEER _ 0 0 0 0
GEPIS TEHESHEBTIFER - =T4 1 1 1 1
H;*{;j‘?;‘]ffv'ﬁﬁi)i MBHSEBTIYER 1 1 1 1
‘ :_ =igat 2 2 2 2
it BARMIEEY - EFe | i 1 1 1
(ERE GRS —
BRha—2) IRF2Et 1 1 1 1
I BEBIRIPER - EF4& 4 4 4 4
BT R EAREE Epopn 2 2 2 2
Rl E EF4% 7 7 7 7




	大学院grad

